12th Grade ( commercial Stream )         Unit One                             Name : 
Read the following passage then answer the questions below :-  ( 7 Points )
  Oil , like coal , was formed by heat and pressure on plant and animal remains millions of years ago . These fossil fuels are usually found deep underground . 

   Coal , which pollutes heavily , was used to drive the steam engines of the 19th-century Industrial Revolution . Today , it is mainly used by power stations to produce electricity.
   Industry soon preferred oil to coal . It was easier to transport , more powerful , and many useful products came from it , including petrol ( AE: gas ) . In 1859 , the first oil well opened ( in America ) , and the first petrol-engine car was built ( in Germany ) in 1885 . More 'black gold ' was quickly needed . Thirty years later , there were many oilfields in America and around the world . 

   Today , we know the problems with oil . Although cleaner than coal , it still pollutes both when it is produces and when it is used . Moreover , supplies will soon start to decline . 

   However , demand is huge ( 85 million barrels per day ) , so we continue to explore in more and more difficult locations – deep beneath the seabed , for example . 

· Answer these questions :-

1: How were fossil fuels formed ?                                                 

……………………………………………………………………………………………

2: Why did industry prefer oil to coal ?                                        

………………………………………………………………………………………………………………………………………………………………………………………… 

· Decide whether these sentences are true or false :-               
1: Coal is used nowadays to drive the steam engines . (            ) 

2: Petrol is called 'gas' in American English . (         ) 

3: Oil pollutes more heavily than coal . (     ) 

· Find words from  the passage that mean the same as the following :-  
1: below ……………..                               2: rapidly  …………………..   

· Find words from the passage that give the opposite meaning of the following :
1: excluding  ………………                      2:  easy ………………         
· What do these refer to :-                                                                 

1: " it " line 4 …………………….              2: " black gold " line 9 …………………

____________________________________________________________________ 
Vocabulary .  ( 8 Points ) 

A: Put each word in front of its meaning . 

	reserve , constructed  , below , data  , locations , transport 


1: …..………. scientific information                             4: …………… places                                                                                         

2: …………. carry things from one place to another     5: …………… built  

3: …………. something kept for the future  
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B: Fill in the spaces with words from the list :-
	decline , reserves , refinery , capacity, pipeline  , price 


1: Oil is separated at the ………………… to produce many useful products . 

2: This bus has a ………………… of  $ 19,500 . 

3: How soon will world oil production start to ……………………. ? 
4: The road runner is a mini bus which has a seating ………………… of 12 . 

5: The Middle East has the largest oil ………………… in the world . 

C: Complete these sentences with another word from the same word family :-
1: We have a list of ……………. rules that we should follow . ( safe ) 

2: This project isn't ………………… . ( succeed ) 

3: Without oil , the world's …………… economies would stop producing . ( industry ) 

____________________________________________________________________  

III: Language .  ( 5 Points )
A: Use the sentence parts to make questions and answers . 

1: do / Paolo / work / Saudi Arabia ? ………………………………………………………
No / he / do/not. He /work/ Alaska . ………………………………………………………. 

2: Where / be / you / from? ……………………………………………………………….. 

  I / be / from / Palestine / …………………………………………………………………. 

3: When / Michelle / leave / high school ? ………………………………………………... 

She / leave / in 2003 . ………………………………………………………. 

B: Write questions for these answers using the words in brackets :-

1: Question :  ………………………………….. ? ( Why / be / late  ) 

     Answer :   I had an accident .
2: Question : ……………………………………………. ? ( How / get / test location ) 

     Answer :  She goes by air . 
C: Choose the correct answer . 

1: Demand is rising . ………………….. producers have to look for new oil . 

    a. Despite this                b. Therefore               c. Because 

2: ………………. Ali doesn't have a car , he goes to work on foot . 

       a. Although                   b. Despite              c. Because 

3: She comes from Canada , so she's a ……………….

   a. Canadian                 b. Canadi               c. Canadese 

                                                   Good Luck                               Teacher : W. Radwan    
